o
il
F
0l

H.M iod K0
& R0 O
MR R

t2l

i &
N K0 O

Cl

) 2 1%
< - N 1
I B o z|8|8|8 |K|8|°
Ko | & %MMZ 12 3 1
ER B S < Bl X N8
] < 4 %%
8
©
g |2 |2 SEIEIEREINE g ale
&m% S > 2188 S S8
= © %%
(o)
< |
N8 9 S
S HEEEEEEEEEEEE
&wwmmw%&&maesommmmwm —
xr 5&,,,46 o | N~ yyyﬂwQuOQOmgwn/_OO
¥ [ee8iee g %%mmmowa,ﬁﬁpo%mmmm =
=~ - o a7 1%229_,,1524%6%%%%%
s mmWMm%mnawmmeommmmnnm
Sl 6 s o m%mmz7wwwamma~o
8N ¥3
~ Ul R’
or
X0
2]
)
=<
s
g
= —
o] 0 b
F < o) M o
ol H w (30 T = wm %m
. s X0 K| o O Sl o & _
0 5 | By Be 2 ow 5= 5
m o | i A== _ I Yy = r
RO I 3 | %0 méy%mm@%wmg al o i
53 0 mlﬂglwx_%%%nom_xe%m:Dm%.N N B ]
s|3 oY s ||ao¢m_ﬁq5%l_ax _ 0B~ o . S o=
jilg 0 w0 |3 | = KO {0~ D O oo o B T <+ < 30 Kir o
. " D:_a21x5OEMﬁoﬂo%mmwﬁmwo_w&#%IMAE%._M__#_AT%xATATNN ok &
- S == T T U A 7 o U S o5 om o W
o = i oS ]" ﬂomom@@@m@@@T@mmo%%%gaaiﬁéﬁm%%%@m
< 0l o = U %P_ O O _@__Eﬁﬂ@:_.
= Y O._,A.©_0_

- 555 -



[l
3
OF
uJ

= o) Ko
S 10 OF
HAR

F2|

(i &
<l RO TJ

Cl

el e 3 S 188 < 31818 31818 ] 3 3 ]
@ S |32l slale |2lele |2 |2 S 5
o 3 g 8|8 glg|lg 8|88 |8 |8 |S 3
xﬂm = a1 <4|< G| a4 < <
]
8188 818 &= B |58 2 21818 il el S S S ]
slales |22 (= i Bt ~ S|2|s S = |= 0
o Q o N~
e g1&8 |[B|8 |N g |88 & g|8|8 2 |8 |8 ¥
w3 % SN - 5| |@
RIS
88888 8l|8lglgglglg8lEagx |18 228 J|8|8|8 8|8|8|8 8|8 |8 8|8 8 8|8
b S35 3w giglgsgiglsglmnyn= |25 ¥3K =0 SI5IS 3|3|ss g|ls 3|ls 3|S5 SIS
o Q [eg) (@) (e} Q| = — DO (@) (a0} — [l NoN Ne] L | Wy WV wWv
RSB YSERIRRIBIE R &|Y |EIR gL 838818 8888 B|28|828|8 8883
ar S~ @x |Nd g d ¥ A Slglgle e
<
S
~ W ~| = ~
0o
or =
0 o)
o
wm_ )
[ d ok
=< [ o] o o
I+ <k o = =
= T = = = - Mo
o =K " W W ogn|w b i
= n| o I A R @ |75 g
1f = | K ol X0 = o} el oy | 10} M = Mo |
- J < . ol &0 H
= o |w| (K ER| wlw o G ZW om0 G Dy M <
3 _ O L H (= oW = H &R R M R|w|R|[H gp|d g | H
ol 3 K I oz 30 R | [rio = Ot g0 ol o) go M ol | A x|z |20 K ) 0 g i
= lw OF & |3 = ©lm|mw K|T = L= I 1y B =l OO T D 5 VT N R
G Ry [ R Bl 1) N T G R I ol O S U o O T s = - L - - U
o e S o e Lol = L o (ol U UWm U Hpsik ¥ oln Rg (@ (o
S =T O 8 L v oI Tl - e = R PR g3 RPRRITE (B (R |E
g O Ok 80 Wigrial|al N |E|D WX ~ o3 A A0 @ A0 A gylal|a) RO for [RIR K| =4 =3 =
IF 0005y Olgly Ol 2 |5lg @98 90Usly OR|gI5 %l |8 |59 |2
. =|® ~ ) ~|® W@ 3| & <0 e} S
' L O e n0 R ~ Ko
<l =

- 556 -



A= BAHME= 2AM @ M=
HE: AUE AR W=E YAT AW
ol HMSHE Y L OX S4 (i = 9l)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
202 o4 2,000 2,500 AB00
01 =WOdHI 2,000 2,500 A500
OZOR M=&s X 2,000
307 2I12to| A 36,000 45,000 A9,000
04 QIZHHAIAIA S X 36,000 45,000 A9,000
OO M=UHal JHxl & &It K& 36,000
=28 Hoel M3 KE 10,000 10,000
308 AXISHMSOI& 10,000 10,000
01 XN BAELS 10,000 10,000
O3=g Fofe Ms82 N 10,000
ool MEMFUS JHE(=21) 58,000 58,000 0
| 29,000
= 29,000
307 QI2H0| M 58,000 58,000 0
J| 29,000
= 29,000
04 QIZHHAIAIA 2 X 58,000 58,000 0
QFOHR! MEH= Hal IHE 58,000
| 29,000
o= 29,000
Mol AZ=AROIEH X (=21) 492,252 163,285 328,967
| 405,384
& 86,868
308 AtXIEMSO0IN 492,252 163,285 328,967
| 405,384
& 86,868
01 AXEHBLEES 492,252 163,285 328,967
OFTAAEZ=LI0|EA XA 492,252
| 405,384
= 86,868
HOHQIMEH S X=X BIXI(Z)(=212) 183, 168 326,054 A142,886
| 91,584
& 91,584
307 QI2Hol ™ 183, 168 326,054 A 142,886
| 91,584
& 91,584
02 QIRHEAAIHE = 183, 168 326,054 A 142,886
OFOHCIMEMSXIEXF BIXI(Z) 183,168
| 91,584
& 91,584
HONQIMEMSF XA BIXI(AIZ)(Z21) 610,560 518,721 91,839
| 610,560
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U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
308 AFAIEHMISOIE 610,560 518,721 91,839
Jl 610,560
01 MXHHBSExS 610,560 518,721 91,839
OH N HEHSXI Xt BIXI(AIZ) 610,560
Il 610,560
dENs & dEMsUe XA 640,000 500,000 140,000
307 212t01 & 640,000 500,000 140,000
04 QIZHHAMAIS E 640,000 500,000 140,000
OSXIADI(HY) B=E H2HSUE X2 365,000
OSXIADI(HY) S=E dEHMSU X2 275,000
Al MFLAF X2 139,000 109,570 29,430
307 el2tol & 139,000 109,570 29,430
04 QIZFHAMAIHE X 139,000 109,570 29,430
oH=0tetEU 47,000
OZ ATt 50,000
OFd A2l FLUHEHS d=02U2 20,000
OE=00| clEkeld 8=KRAEHFIUS 22,000
dadEMSUHSE S0t X 249,950 234,000 15,950
307 el2tol & 249,950 234,000 15,950
02 U E A E X 249,950 234,000 15,950
Od=daH=U=H It N 249,950
s SSEU I X&H 140,000 80,000 60,000
307 2I2t01 & 140,000 80,000 60,000
02 2B YA HE R 140,000 80,000 60,000
OzE M=t dEM=sUal Fotdl XA 140,000
= AJtel FO0SAl T3l 10,000 10,000 0
308 AHAIEHMSOIE 10,000 10,000
01 AXEH B EES 10,000 10,000
O&= AJte| FOHHAl tHal 10,000
Xt 23S HILIADHS 20,000 20,000
308 XXM SOIA 20,000 20,000
01 XN B ELS 20,000 20,000
OXIHl 23 & HULALE 20,000
HFXAH ZRE - o =0 10,000 10,000
308 AXIHHISOIA 10,000 10,000
01 MXHHBSExES 10,000 10,000
OFFIaH B2 & o ==U2 10,000
K132l 8t= HIOIOH=EHY 2/ FHY A== 10,000 10,000
308 AHRIEHMISOIE 10,000 10,000
01 HAHHBSEx= 10,000 10,000
ONI1328| 8= HIOIH=EHY S ZUH =
tHal 10,000
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A= 2SS 24 s
T AAS S W=e YT M
ol HMSHE Y L OX S4 (i = 9l)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
EHes BI=CH=X EHZRAIEEH OtOR g & 15,000 15,000
308 AXIEHHSOIA 15,000 15,000
01 XN B EEExS 15,000 15,000
O HISUS=M EHHAIZE Ot0 I8 & 15,000
AMEE0IA ZRE HE 140,000 100,000 40,000
308 AXIEHMSOIE 140,000 100,000 40,000
01 MXHHBExS 140,000 100,000 40,000
OAItZE0IA HEZ U2 140,000
HHD| dstEE MHEAHUS 15,000 0 15,000
308 AXIEHMSOIA 15,000 15,000
01 MAHHBSEx= 15,000 15,000
OetEHHI| JetEE HEHU= 15,000
JldiA Z2elXl 2023 75,000 0 75,000
308 AXIEMSO0IH 75,000 75,000
01 XM B EELS 75,000 75,000
OJ|UlA ZelXl 2023 75,000
2023 =X A0t LE=HMEH =02 200,000 200,000
308 NHXIEHMISO0IH 200,000 200,000
01 HXHHBExS 200,000 200,000
02023 EH 0t ERMEHE =THS 200,000
= =MHuNE gdst 19,400 19,400 0
SMA=ELF 19,400 19,400 0
201 &gr=2E| 11,800 11,800 0
01 At22t2IH] 8,050 8,050 0
O=MHM=uFT 43t 8,050
03 A2 S| 3,750 3,750 0
O=MHMELT 43t 3,750
202 O 3,400 3,400
01 =LHAbI 3,400 3,400
O=MAELF 2d3t 3,400
301 EetEN = 4,200 4,200
11 HAHAHIX 2= 4,200 4,200
O=MHM=uF7 43t 4,200
HEH=S U 2ot 7,218,083 5,852,686 1,365,397
Jl 6,306,452
= 911,631
MENSZZOY 29 180,000 180,000 0
308 XXM SOIA 180,000 180,000
T AN BSEES 180,000 180,000
odgMs wd =29 X&H 180,000
2023 080l s ud 24 10,000 0 10,000
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A= 2SS 2A M
I AUE AT WS YAT AW
Chol: MBS TOIEO S (ol 29l)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
308 AXIHMSOIA 10,000 0 10,000
01 AXHHBEEExS 10,000 0 10,000
©2023 0fel0] Htsua 24 10,000
E2¢ AXxZE 2IIM XF 140,000 140,000 0
307 @l2to| & 140,000 140,000
02 2B A HE R 140,000 140,000
0s=2g AZ=Z2Y 2IJN X3 140,000
HEHSN =N RIS XS 35,046 35,046
308 AR M SOIE 35,046 35,046
01 HAHHBSExS 356,046 35,046
OMENSXNTA MRS X 35,046
AZXAR0IEA XE(21) 2,969,985 1,722,440 1,247,545
J| 2,445,870
S 524,115
308 AXIHHSOIA 2,969,985 1,722,440 1,247,545
Jl 2,445,870
& 524,115
01 XN B ExS 2,969,985 1,722,440 1,247,545
OAX=AZF0IEH KIEH 2,969,985
Il 2,445,870
S 524,115
MEHSICA &8s AF(=1) 1,871,968 1,668,631 203,337
Jl 1,871,968
308 AXIHHISOIA 1,871,968 1,668,631 203,337
Il 1,871,968
01 MAEHBL4EEZ 1,871,968 1,668,631 203,337
OMEXMSFX A+ B 1,871,968
Il 1,871,968
24l Msgs XNYd(=1) 44,940 44,940 0
2l 22,470
S 22,470
307 eI2to| & 44,940 44,940 0
Il 22,470
= 22,470
02 2B AAHE R 44,940 44,940 0
ozd ==l X2 44,940
Il 22,470
& 22,470
=24l Megs ANYANZ)(22) 1,166,144 1,221,675 /55,531
Jl 1,166,144
308 MR EHMSO0IH 1,166,144 1,221,675 A\55,531
Il 1,166,144
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3
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HwE

23,900,000
A3,900,000
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A800,000

dHEC
Ol &42H

11,700,000
11,700,000
11,700,000
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Ofl &8
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150,000
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250,000
250,000
138,000

138,000

450,000

Il
Il
Il
Il

450,000

300,000

300,000
7,800,000
7,800,000
7,800,000
7,800,000
7,800,000
1,900,000
1,900,000
3,800,000
3,800,000

Il
Il
Il
Il
Il
Il
Il
Il
Il

200,000
1,000,000

1,000,000
900,000
900,000
200,000

1,000,000

p
Il
Il

- SR1(3) - HIRAHY

R

29438

A
=

H
=

HE =

s7E UM

2|

=

Hole=

o3
A

&
et

2|

=
[und

3|

X
=

©

3+

3 ot HILIAZE i

©

(=1)

=]
[lin3

2|

e

201

dl

d=dEH X

ps

t

i}

]

250C =

403 Xt

—_

o

Ed

or

==

=

nr
ar
G
4l

pry

a0

K]
00

i
]
al
Y

.

A
0f

==

=

i

<

180
]
20

AH S

(=}

rJ

800,000
800,000
A1,114,250

1,800,000
1,214,250

1,800,000

600,000

1,000,000
1,000,000
1,000,000
1,000,000
600,000
400,000
400,000
100,000

|
|
|
p

- 564 -

TE2XH=HE

=

SA=01H

(=93]
=y,
[(RHAF) N

3

01 Xt

403 Xt

HIZIICH

e
=




9l THZIIE (A HE (cre): =)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ

2023 =ctOlgdE =Ha JHEIXIA 100,000 0 100,000

308 AFAIEHMISOIE 100,000 0 100,000

01 XN B EES 100,000 0 100,000
02023 =ctolgd e = MU=l HEXSH 100,000

dXlzdt 7l 2dst 24,000 0 24,000

T MRS CHNMIL HIH 24,000 0 24,000

201 Ler2 3| 24,000 0 24,000

01 AtR2telH] 24,000 0 24,000
OZAE dX=e CHHZRAF HIE 24,000

HY2AAH (M=) 27,625 28,172 NBAT

=34 27,625 28,172 ANSTvg

2A29 J1=23l 27,625 28,172 AB4T

201 Ler2 3| 19,100 19,100 0

01 At2teltl 19,100 19,100 0
PAN2E ARSI 19,100

202 048l 4,925 5,472 NB47

01 2L A 4,925 5,472 NBAT
OF A2 =L 4,925

203 gF=4| 3,600 3,600
M EASHE =] 3,600 3,600

©20¢2! Olat 300,000& x 12 3,600
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